S BAINEL
BAINEL AUTOPARTS

BAINEL AUTOPARTS is engaged in trading and manufacturing
chassis parts since 2012 .

We are-professional in trading and manufacturing parts:
Suspension System

Brake System

Drive Shaft

Engine Parts

Body parts...




1.Control Arm
2.TieRod end
3.Ball Joint
4.Stabilizer Link
5.Axial Rod

6.Steering Knuckle

7.Brake Caliper
8.Brake Cylinder
9.Cam Shaft

10.Brake Disc
11.Wheel Hub Bearing

All other parts for the car module,Please consult customer service for details.
sales@bainel-autoparts.com




VAUXHALL

Fitting Position: Front Axle Left
Fitting Position: Front Axle Right

ASTRA J [2009-]JASTRA J Sports

Thread Size 2: M16x1.5

1 [BN06000104 ;ggggggg VAUXHALL Length: 350 mm PR
MOKKA [2012-] Thread Measurement 1: M16x1.5
Thread Size 2: M14x1.5
Fitting Position: Front Axle Left
1609213 Fitting Position: Front Axle Right
2 |BN06000105 95952929 VAUXHALL Length: 335 mm ———a
MOKKA [2012-] Thread Measurement 1: M14x1.5
Thread Size 2: M14x1.5
OPEL Fitting Position: Front Axle Left
4420096 MOVANO B Box [2010-]MOVANO B |Fitting Position: Front Axle Right ol sm—
3 |BN06000106 |485212373R |Bus [2010-]MOVANO B Length: 250 mm
93167687 Platform/Chassis [2010-] Thread Measurement 1: M16x1.5
RENAULT Thread Size 2: M18x1.5
Thread Size: MM16x1.5R
Fitting Position: Front Axle left and
4 |onosoooro7 (920005 [VAUXHALL ki 2
13314168 ASTRA Mk VI (J) [2009-JASTRA Mk VI|1p o 1 Measurement 1: MM16x1.5R Dt
(J) Sports Tourer [2010-] Weight: 1.289 kg
Fitting Position: Front Axle Left
Fitting Position: Front Axle Right
5 |BN06000108 12305;51";‘; VAUXHALL Length: 226 mm S——
ASTRA GTC Mk VI (J) [2011] Thread Measurement 1: M16x1.5
Thread Size 2: M16x1.5
Fitting Position: Front Axle Left
16 09 169 Fitting Position: Front Axle Right
6 |BN06000109 13337891 VAUXHALL Length: 234 mm - —_—
ASTRA GTC Mk VI (J) [2011] Thread Measurement 1: M16x1.5
Thread Size 2: M16x1.5
VAUXHALL Fitting Position: Front Axle Left
920007 ASTRA Mk VI (J) [2009-]JASTRA Mk VI|Fitting Position: Front Axle Right
7 |BN06000110 (0920007 (J) Sports Tourer [2010] Length: 290 mm P——
13278358 OPEL Thread Measurement 1: M16x1.5

All other parts for the car module,Please consult customer service for details.

sales@bainel-autoparts.com




VAUXHALL

Weight: 0.290 g

VAUXHALL Fitting Position: Rear Axle left and right | %
1 |BNO3900096 (412394 IMOVANO Mk Il (B) Chassis/Cab Length: 105.5 mm @ o
93197332 115010JMOVANO Mk Il (B) Combi Thread Size 2: M10x1.5
[2010-]MOVANO Mk Il (B) VAN @: 10 mm
Fitting Position: Left and right
g‘gggg‘ng VAUXHALL Fitting Position: Rear Axle "
2 |BN03900097 5626100Q0B MOVANO Mk Il (B) Chassis/Cab Length: 165 mm P
93168675 [2010-]MOVANO Mk Il (B) VAN Weight: 0.329143 kg
[2010-] Thread Size 2: M10x1.5
Thread Size: M12x1.75
22737680 Thread Size: M10x1.5 ||
3 |BN03900098 |20911128 VAUXHALL Fitting Position: Left and right (TR
4808136 ANTARA (J26, H26) [2006-] Fitting Position: Rear Axle Lo
Length: 167 mm
Height: 54.5 mm
Weight: 373 g
4 [BN03900099 ;ggg;g” VAUXHALL Fitting Position: Right —
ADAM [2012-] Fitting Position: Left
Fitting Position: Front Axle
Fitting Position: Front Axle Right
350193  |VAUXHALL Longthooaimat. P———=
5 |BN03300100 13285628 ASTRA GTC Mk VI (J) Thread Measurement 1: M12x1.75
: Thread Size 2: M12x1.75
[2011-]CASCADA Convertible [2013-] Weight: 0.416 kg
Fitting Position: Left
350192 VAUNHALL Fitting F’osntlon, Front Axle — <
6 [BN03300101 13282834 ASTRA GTC Mk VI (J) Length: 290 mm
: Thread Measurement 1: M12x1.75
[2011-JCASCADA Convertible [2013-] |1 oo size 2 M12x1.75
Fitting Position: Front Axle Left
95942519 Length: 285 mm
7 |BN03900102 |350231 VAUXHALL Thread Measurement 1: M12x1.5 “—69
0350231 MOKKA [2012-] Thread Size 2: M12x1.5

Weight: 0.48 kg

All other parts for the car module,Please consult customer service for details.
sales@bainel-autoparts.com




I

2

|
)
UNIVERSAL CERTIFICATION CENTRE CO., LTD.
QUALITY MANAGEMENT

Certificate of Compliance
Mo 3TTE08 18 WATDRS
ate's tsCo., L
2 v »
0 Pronren

NSF
éun
c Certificate of Registration

SYSTEM CERTIFICATE This curtthen sht the Qudiey Manapernen Sysions of

N (04] SONITIRIM PRC
T b sl O b e o Cantcatontm (3 Weicheng Metal Products Co., Ltd.
wnc:m«: mw;l’. :onvclrs Co, LY. Mor f Lf\ N 358, Neeth of Norghai Hoad, Ninghai Coenty.
roe s - Nisghe City. Zhging Proviece. Chs 315600
--n‘-j:-u - Proguct: Coung Froaucss (Vaive Docky, Soroes) i o
e e Modaisi: Shosudan ol Pt By assesacd By NSEISR el Found 10 e i) ool tethe .
GE/T19001-2008/1S09001 : 2008 -
T e i ASTos A3S! ot (P Crva, P0G ISO/TS 16949:2009
SPRODUCTION AND SERVICES OF STEEL CASTING* v fovs Aol i
Vedfication

S G #2904 Thin Confua o wlhiiy wat 05262008 ‘

Sondore:
poul - " . o ASTM |ASIS/ALTE/AISDIAST |

reczed 4

CE Droc Svwir|- Manfi [ Prois ?‘"‘W k., Rool ¢
F0NMGRIDY [Pracose Ereee| Asis | SLron 43 { T dee Casting (Goxr ever, ki ‘capleg)

Fucludons: Pradacr Dedign

(= Aerecmman e of g cora OO g LATY Combom Narbr
= - N Catluns Nandwr 2
‘ A Cortlus Yo Dot 20-41AY-2084 x
Yogriuten Uate IRMAY- 2004 ol Bl
Tpnion Twr® 1%-MAY-20Y Vioe Frenalver, Tonbicd
e — Opessons, NSISK Ud
b (
e~ . -

NSF International Strategic Registrations
TES Moth Divions Soed e Atber, Viefagmn 25105 | J583) R8P 0000 | mew mobar o)

} R R
’ g —
(4
vce AT IVETE W

Tel : 86-574-82824608 B ‘\ ] L\« EL
Fax : 86-574-82824600
Mail : sales@bainel-autoparts.com

Website : www.bainel-autoparts.com AUT ,) I_j/\ l_j/ ‘—I__C
Office Add : L of = 1A )

Rm1801,No.88 Qianhe South Road,Ningbo,China
Plant Add :

No0.388,Xinghai North Road, Ninghai County, Ningbo, China




